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Valuation or Capital Market Ratios Part – II 

 

Welcome students. So, we are now in the say verge of closing the discussion on the ratio 

analysis. This is my last lecture on the ratio analysis and say with reference to Grasim 

industries and their performance, if we what we could find out so far I was discussing 

with the last part of discussion that here we are finding that the dividend paid by the 

Grasim industries seems to be low and this could be the one reason that the market price 

has not appreciated, but if people are looking or the potential or existing investors. If 

they are looking from this prospective then it means they are totally financially illiterate I 

would say. They do not know how to analyze the over performance of the company and 

their financial outcomes. Because you see that one important indicator which you also as 

a financial analyst tomorrow has to see that if you look at the situation that is the reserve 

and surplus position here then it is 6138.35. 
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And if you talk about the debt equity ratio we have seen that the debt equity ratio in this 

company where it should have been 2 is to 1 or more than that it is less than half. You 

can call it as 0.47 is to 1, if you remember then it is less than half it means they have not 



at all exhausted their borrowing capacity. Reason was that most of the fund this firm has 

generated internally that is reserve and surplus means they are starting the business with 

initial capitals. So, far was a capital issue you talk about that is 90 about 92 [FL] and 

remaining capital is coming from the reserve and surplus it means how a company builds 

up the reserve and surplus, how a company builds up the reserve and surplus. 

When we prepare the profit and loss appropriation account, you if you recall it if you 

know or we have discussed the profit and loss appropriation account and if you know 

that and if you recall the profit and loss appropriation accounts preparation. 
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 In this case you can see that we have a buy net profit after tax and here you have the 

appropriations and when you talk about the appropriations, in case of the appropriations 

you see that we are first of all creating specific reserves and then we are paying the 

dividends and then the amount is remaining amount is going to the general reserve. It 

means the form is creating very less amount of the specific reserve very small amount is 

little amount they are paying as a dividend and larger part of the investment is means that 

profits is going to be reinvested back in the business. 

It means the money reinvested back in the firm, is it not the share holders money, is it 

not the share holders fund means if you talk about the earning per share earning per share 

is growing because if you talk about the total dividend or the total return of this it is 

seriously growing that earning per share it was 94 rupees, now it is 165 rupees, it has 



grown by 70 rupees this year, it is 65 rupees and it was 94. So, 60 to 71 rupees growth is 

there. It is not a small growth and for example, the company is not paying any dividend, 

can you say that the company’s yield to invest is very poor? Yield; dividend is not the 

criteria because people who are thinking of getting the dividend and comparing the 

return on the investment on the basis of the dividend then they are the poor investors. 

Because in the market from the beginning of the year till the end of the year when the 

dividend is declared in the market. 

It changes hands in say to the number of peoples it changes number of hands. So, it 

means if you are talking about the dividend is low that is why the share price has not 

gone up we cannot draw their conclusion because finally, that is also the share holders 

money and reserve and surplus also goes to the equity shareholders. So, it means and we 

have the different kind of the remedies available, remedies here is that for example, 

somebody is not happy with the company’s shares that the company share is not 

growing; market price is not growing and the dividend is also not being paid by the 

company means right amount of the dividend is also not being paid by the company. 

In that case they do not want to continue as the share holder of the company there is no 

issue at all. They can sell the share in the country market and they can get rid of the 

company shares it is quite possible now for example, you talk about there is for example, 

some company’s share capital is 1,000 rupees and number of shares are 10.  
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So, what is the odd number of shares are 100. What is the total market price of the share 

that is the or the book value of the share? You can call it as 10 rupees per share, but now 

what are the; company earned a profit of say 2 rupees or 200 rupees and they did not 

declare any dividend and they reinvested the entire amount back in the business. 

So, now the capital has become 1,200 rupees, number of shares is again 100. So, what is 

now the price of the share? 12 rupees per share it means share value is growing share 

value is appreciating in the market its growing in the market. So, there is no point that we 

when we talk about the yield to investors that they are paying very low amount of the 

dividend and that dividend was somewhere how much was the entire dividend they paid 

was is very less that the company paid the entire dividend this year is only 252 [FL]. 

If you talk about the total profitability, profit after tax is 1,535 and only 250 [FL] is being 

declared as a dividend which is very less amount it means larger parts of the fund are 

being reinvested back into the business and with that also equity share holders base is 

growing because the number of share holders is number of shares in the market is same. 

So, company when they are not increasing the number of shares, but they are reinvesting 

back the funds in business the total capital base is growing and when the total capital 

base is growing that capital also ultimately belongs to equity share holder. If somebody 

is not satisfied with the dividend; somebody is not satisfied with appreciation in the 

market price because it is a temporary trend company like this people have misconceived 



the company; people have misconceived the growth of the company and company is like 

this, cannot have the growth in the market share only by 33 rupees, it would have been 

certainly this price which was in the month of January. 
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In the month of January, this price was 2,778 had or 79. So, this the real prize of the 

company’s share maybe somewhere from January to March, there might be some bad 

news or wrong news about the company, misconception about the company and its 

performance in the market that is why it has not been measure the share price has not 

gone up to that extent. So, it means you as a true analyst financial analyst you have to 

look at the balance sheet, you have to look at the profit and loss account you have to look 

at the overall performance of the company because now you will call back just when you 

talk about if you take the total say snapshot of all the ratios we calculated. So, far we 

have seen that return on investment was how much. Return on net worth this year is 27 

percent roughly, 26 point something that is 27 percent.  

Similarly if you talk about the solvency position of the firm, solvency position of the 

firm is very very good, where we have calculated the net asset value and if you look at 

the net asset value here it is 679.39 rupees per this share and similarly if you talk about 

the say your other issues that is interest coverage ratio, how many times 20 times, 

similarly you talk about the debt service coverage ratio of the company that was about 6-

7 times or 8 times, look at the solvency position of the firm. Then we went through the 



liquidity analysis and when you look at the liquidity ratios firm is not maintaining any 

high amount of current assets or investment in the current assets it means if the inventory 

level is low sundry debtors are very less low about 10 percent we have seen the sundry 

debtors. So, it means if the company because production process is continuous when the 

company is continuously producing in the market and their sales are also going to the 

market then they are continuously producing and sales are going to the market because 

level of inventory is very very low and most of the sales ninety percent of the company 

sale are on cash. Only 10 percent are on credit and the amount of the bad debt is also not 

very high if you look at; let us check the bad debts. 
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If you look at the bad debts components, I do not think that the company has any high 

amount of the bad debts here; we do not have any bad debts components material 

manufacturing expenses purchases then all interest depreciation. 
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And if you look at the say bad debts component surplus then write back of the provision 

for diminution, then provision for current tax, deferred tax, means there is no bad debt at 

all. It means whatever the credit sales they are making, they are making to the very good 

quality of the buyers. So, it means look at the liquidity, liquidity does not means only 

that whether the firm has the sufficient cash available or not or the firm is able to pay off 

its obligations or not that is not the case. 

While studying the liquidity ratios, you have to look it into the total perspective; how 

much inventory firm has how much debtors this firm has how much say cash firm has 

and how much other assets they are not having even a single prepaid amount they have 

paid anything as a prepaid no advance payments nothing. So, they have rather given the 

loans and advances to the different interest groups. So, it means the liquidity position if 

you will talk about the current ratio excellent 1.26 times if you talk about the quick ratio 

that is one is to one almost and if you talk over the super quick ratio it was only eight 

percent. So, where is the problem in the company? 

So, there is 2 financial analyst you can easily make out that this company is not a bad 

performer. So, if you look at this yield and you finally, draw the conclusion on the basis 

of this yield then we are not the good financial analyst similarly you talk about the turn 

over issues turn over. So, this company is a highly capital intensive industry its working 

in a highly capital industry intensive industry where the capital the asset base is very 



very high physical assets if you talk about it is a very high amount of the physical assets 

how much physical assets we had if you look at the physical assets we have the level of 

the gross block of the asset is 6,770 [FL] which is net, if you talk about 3,390 [FL]. Still 

if you talk about the net worth turn over it was really wonderful if you talk about the 

fixed asset turn over it was really wonderful. So, it means their sales are 2-3 times of the 

very high amount of the investments in the fixed assets. So, despite being a capital 

intensive industry they are having sufficient sales and the sales are growing at a 

spectacular rate it means another indicator says the company is a good performer in the 

market. 

Similarly, when you talk about the other ratios like profitability ratios I discussed that 

length with you what is the meaning of the gross profit and what is the meaning of net 

profit operating means you have to look it at as a true financial analyst that you look it at 

the operation structure of the firm and you look at the financial structure of the firm. If it 

is a manufacturing sector firm I told you in my say in my previous lectures also that if 

the firms is a operating structure is good financial structure is not that good do not worry 

it will improve, but in this case we have found. Operating structure is excellent, gross 

profit is 50 percent and financial structure is also well within control very good very 

strong and the net profit is you can see it is a very good amount it is a sizable amount. 

So, when the profitability is improving profitability is going up while the market price is 

not going up which means there is a mismatch wrong perceptions about the company 

people are not able to analyze the overall performance of the company and overall 

working of the company that is why the good performance has not been there or that has 

not reflected in the market price. 

I share with you that good companies who are the real companies or who have the good 

intensions to grow in the market and to sustain in the market, to compete in the market 

on the long term basis we have this kind of strategy financial strategy you would call it 

as that they will not declare very high amount of dividend they do not declare. Take the 

case of Reliance industries.  

Reliance industries hardly declare any dividend maybe today they are declaring, but in 

the past we will talk about the 70s and 80s when Dhiru Bhai Ambani was the chairman 

of the company. He was of the philosophy that do not pay much dividend to the people 

rather whatever the profits are available you reinvest back those profits to the business 



and you generate more funds for the growth diversification or any kind of vertical or 

horizontal diversification and growth you generate funds internally because if you 

generate funds internally you have many other advantages also. Number one, companies 

attract many incentives from the government, second advantage is that when you have 

less amount of the external debt; borrowed debt or the borrowed investment in the 

company, company’s threat for means any kind of the external threat from the company 

is not there, but when the extent of the borrowed, capital borrowed money borrowed, 

funds increases in the company in that case there is a problem. So, if you look at this 

company that equity ratio is very very low, it means the external claim on the company 

because financial institutions and lenders did not wait for much longer. 

If the company’s performance does not come up to the expectations even for a year, they 

will they will start say issuing the notices for to the company. So, it means not having 

sufficient amount or not having a high amount of an external debt another feature of the 

company and Dheeru Bhai Ambani followed the policy that most of the funds should be 

generated internally. So, it means this is the second advantage.  

Third advantage is when you are declaring the dividend it is taxable at 2 places number 

one is firms profit is taxable first. So, firm is paying the firm is paying the tax on its 

profits which either way it has to be paid, but second thing is when the dividend is being 

paid by the firm to the shareholders it is under the category of capital gain it is again 

taxable at the hands of the share holder also. So, double taxation is there. So, when the 

more dividend is not being declared in that case what is happening the company is 

paying only corporate tax to the government and when the company is not paying any 

dividend or the dividend amount is very low major chunk of the funds are being 

reinvested back in the business it means the dividend tax can also be avoided. 

So, number of advantages are there Reliance has followed this strategy financial strategy 

for generating internal funds maximum and I think Grasim is also the one who have been 

also following the same strategy that is of the Reliance group and they have also invested 

the major chunk of the funds internally and the dividend declaration dividend payment is 

very very low, very very less. So, it means in this case you can make out that finally, you 

can understand that not paying the dividend as a true financial analyst is not a bad thing. 



So, do not say analyze a company from the angle of say yield to investors yield to 

investors already I told you that when the company is reinvesting the funds back in the 

business whose funds are these are again the equity share holders funds. But irony is in 

this company in this particular year is there that has not that reinvestment and high 

amount of the reserve surpluses have not reflected in the market share that is the that is 

the some misnomer must be there in the market some rumors or some bad say news must 

be there in the market about this company means by the end of the year because the share 

price had gone up to 2,700 plus and the say month of January, but means by reaching to 

the month of march it has seriously gone down it means there is something fishy about 

the company which is not true. 

So, as a true financial analyst you should not be driven by this change in the share price 

from this to this you should analyze your company yourself when we invest in the 

company what are our objectives our objective, first objective is that my investment 

should be safe and second investment objective is my investment must be growing and in 

this case both objectives have been met your investment is highly safe and the second 

thing is your investment is growing probably this year it has not grown at the desired 

rate. But in the coming years it will grow and it is a rule in this stock market that if you 

want to earn the good returns you have to wait for the longer durations stock market is 

not a place that you make good returns and you go out of it, it is not possible. 

There you can make good gains also and then you can earn good money, but you can 

good loses also you can have a high amount of losses also that it may not be possible that 

you are buying and if you do not have the time to stay in the stock market do not move to 

the stock market if you want to move to the stock market you have sufficient funds and 

you should have sufficient funds and if you should have sufficient time. If you have 

sufficient time see the Grasim industry share has not gone up this here it has only gone 

up from by thirty 3 rupees, but you can expect a very good growth or you might have 

seen we do not have the information beyond 2007, but in the other years it must have 

done very well. So, overall the performance of the company is wonderful excellent 

though it is not reflected sometimes in the market ratios or the market capitalization or in 

the capital market ratios or if you, but still you cannot say that the value of the company 

is going down or the value of the company is not up to the mark or company is not up to 

the expectations. 



Value of the company is very much up to the mark, it is very much up to the expectations 

and you have to read this company as a very good company does not get illusion by these 

ratios. 
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Now, we talk about one more angle, from one more angle we try to look at the ratios and 

when you talk about the ratios and one more angle you try to look at the ratios we see 

that you compare the performance of Grasim industries with the industry we have the 

industry averages also for the different indicators for the different things and if you 

compare it the Grasim industry’s performance with the industry as a whole with the 

industry average you would able to make out where the Grasim lies and it is rated means 

how the Grasim is rated. 

Let us look at these indicators; we have return on net worth for the industry. It is in the 

year 2007 the return or network in the industry was more than the Grasim industries, it is 

29 percent where as it was 20 almost 27 percent. So, in the Grasim, it was 2 percent less 

as compared to the industry as a whole. But you see in the previous year 2005 and 6, the 

growth was more the return on invest or return on net worth was more in the Grasim as 

compared to the industry it means in 2007 there is something seriously wrong with the 

company means not with the company, but with the about the perception of the company 

in the minds of the people. 



So, only perceptional change not the physical change not the material change only 

perceptional change and perceptional change is only momentary then you talks about the 

debt equity ratio we can make out that the overall debt in the industry is low other firms 

in the industry are also not borrowing much money in the market, but still we see that 

that Grasim’s borrowing is much less as compared to the industry’s borrowing. 

Industry’s debt equity ratio is 0.5 to 0.52:1 whereas, the borrowing by the or the debt 

equity ratio of the Grasim is 0.45 only and in this case you look at industries previous 

year also the industry’s borrowing was more than the Grasim. So, it means that debt 

component in the Grasim is much less as compared to industry even overall it is less, but 

as compared to industry also it is much less. So, it means this is the reason that if the 

company’s fixed asset basis is so high 6,000 [FL] or 6,600 [FL], but borrowing is very 

low in the; from the market it means most of the funds are being generated internally. So, 

it means most of the profit is being reinvested back internally and the declaration of the 

dividend is low. 

Consequently it has to be low because company needs more funds for its growth and 

they are generating more funds internally and that is why they are declaring less amount 

of the dividend which is not at all a bad indicator then we talk about the interest coverage 

ratio it is about 20 times for Grasim and how much it is only 12 time for the industry 

how much time more solvent the firm is look at the solvency of the firm how solvent the 

Grasim is how strengthful powerful the Grasim is. So, again another indicator interest 

coverage ratio which is 20 times it is only 12 times for the industry and it is in the 

previous year you look at it was about fourteen and half times and here it is only eight 

times. So, almost it is double almost it is double in case of the Grasim industry. So, it 

means average firm in the industry is having the interest coverage ratio that is only 12 

times previous year it was only 80 times, but the Grasim is the leader here they have four 

fourteen and half times and about 20 times and about 20 times. 

So, it means this is the interest coverage position of the firm now come back to the 

liquidity position yes in the liquidity position may be when you talk about the working 

capital approaches we have 3 approaches in the working capital current ratio maintaining 

the current ratio one is the say aggressive approach another is the hedging approach 

another is the conservative approach. So, aggressive approach means the current asset 

level is very low as compared to current liabilities hedging approach is when the current 



assets are equal to current liabilities and say conservative approach is that when the 

current assets are much more than the current liability. So, Grasim seems to be 

somewhere between the hedging and the say conservative approach, but giving say 

sufficient amount of the current asset is not bad because they here also they are keeping 

more cash and the cash ability because their ICR is high. 

So, normally they have a negative working capability we look at the current ratio of the 

industry, industry has a negative working capital they are running the show with the 

negative working capital by keeping the current ratio means level of current assets is 

point 0.96 as compared to the liabilities it is the same in both the years, but it is 1.26 and 

1.25 in case of the Grasim. So, Grasim more prudent Grasim is more like unlikely 

Grasim is quite unlikely to default in making the payments of the current liabilities 

whereas, the other firms average firm in the industry is more proven to the default in the 

making the means paying the liabilities or when the liability will become due its quite 

likely that the other firms in the industry may become technically solvent. 

So, there also means keeping high current ratio is not a bad indicator, it is a good 

indicator and it means the Grasim is able to maintain that then inventory holding period 

inventory in case of industry it is fifty eight days and sixty five days where as it is about 

70 days; 70-74 days. In case of the Grasim, it will be little more, they are converting 

their inventory into cash and a period of about 70 days industry is converting a little 

early. So, yes there may be, but it is not very significant difference it is a nominal period 

it is a nominal amount of time.  

Similarly you talk about the debt conversion period or the debts collection period credit 

sales collection period its really excellent its really excellent their credit sales are number 

one very low as compared to total sales their credit sales are very low and if you talk 

about the debt collection period it is further much lower as compared to the industry the 

here it is 44 days for industry and they have 20 day 31 and 22 days, it means they are 

very good performers whose product is salable on cash on the market and if it is the 

credit very low amount of the credit and credit is collectival as quickly as possible whose 

product is efficient enough in the market then people buy it either on cash and if they 

expect credit then the credit is for a only normal period of time 20 days to 22 days 

against the normal market credit rate in the Indian scenario is 45 to 60 days. 



In this industry, we have seen that it is almost one month, but the Grasim is only giving 

20 days 10 days less than the one month their fixed asset turnover ratio fixed asset 

turnover ratio is very very high in this company. So, it means the numb amount of sales 

as compared to the fixed assets is very high. So, average is 1.45 times whereas, in case of 

Grasim, it was 2.21 times and it is 2.54 times in case of Grasim as compared to the 

industry is 1.45, it has little gone up from 1.45; 1.59 times. But in case of the Grasim, it 

has gone up that it is really there is a much seriously big difference despite being a 

capital intensive industry their sales liable is very very high and it is say 2.21 times and it 

is going up it has become 2.54 times. And finally, we come to the last indicator and that 

is a net profit ratio net profit here is the industry means overall profit in a industry is low 

that if the industry average you look at it is 10.52 percent and 13.97 percent and so in the 

previous year also it was more than industry and in the current year also it is almost 

eighteen percent it is more than industry. 

So, where Grasim industry is not doing well, whatever we are finding here its only all 

perceptional value, perceptional position, perceptional things, and you should not get 

misguided by the perceptional things that the capital market ratios or not good or the 

company is not a good performer in the market because is the issue of the behavioral 

finance. Behaviorally people may do something actually the things may be different, but 

actually we have to look it at as a true financial analyst we have not to get influenced by 

the behavioral aspects of the people or investors this is only temporary this is permanent 

this is temporary this is permanent and looking at the overall say financial position of the 

company if we look at the overall financial position of the company, company is really 

wonderful, it is doing well. It is doing exceedingly well. I would say in almost all the 

indicatives see here what the Grasim industry is doing as against the industry average or 

as against the industry performance you can easily make out how they are doing how 

they are performing and how you can proceed their performance.  

It is really a wonderful organization beautiful organization very nicely very effectively 

managed firm and I think if we have this kind of firms in the industry you can say that 

yes overall performance is good all the stake holders are safe investors are safe, lenders 

are safe, suppliers are safe, customers are safe and every everybody is getting very good 

products very good profits very good returns and temporarily this year 2007 this position 

is not very good, but this is very good we have to believe in this not in this. 



So, with this I end up the discussion on the ratio analysis or ratio analysis as a tool of 

financial analysis. You have to believe in the ratios only quality of a good financial 

analyst is to identify which ratios are important for me and what is my objective of 

analysis which ratios I choose, which ratios I should calculate and how should I; it is a 

million dollar question how should I interpret the information being worked out with the 

help of ratios.  

With this I complete discussion on the ratio analysis and in the next part of discussion, I 

start talking about the next technique of the financial analysis that is by preparing the 

cash flow statement. Meaning importance and the purpose of preparing the cash flow 

statement and how it is a useful tool of the financial analysis I will be talking to you in 

the next part of discussion till then. 

Thank you very much. 


